Ex/Phil/PG/3.5.1/70/2017
MASTER OF ARTS EXAMINATION, 2017
(2nd Year, 3rd Semester)
PHILOSOPHY

(Advaita Vedanta -1II)

Full Marks : 30 Time : Two Hours
The figures in the margin indicate full marks.

Answer any two of the following :
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1. Why does the opponent bring about the charge that on the
Advaita account of perception recollection of mental states,
like pleasure etc., would also count as perception ? How
does the Advaitin reply to this objection ? How does the
Advaitin explain the cognition of virtue (dharma) and vice
(adharma) ? Discuss. 3+3+4=10
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2. How does the Advaitin prove that in case of the inferential
cognition of the form ‘the hill has fire’ the hill is perceived
while the fire is inferred ? How does the Advaitin refute
jnana-laksana-pratyaksa admitted by the Naiyayika ?
Discuss. 5+5=10
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3. Discuss the Advaita Doctrine of indeterminate perception.
How is it different from the Nyaya doctrine of indeterminate
perception ? Discuss. 10
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4. How does Dharmarajadhvarindra refute extrinsicality of
truth ( paratah-pramanya) with regard to origin ? How
does he establish intrinsicality of truth
(svatah-pramanya) with regard to origin ? Discuss.

5+5
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Answer any two within 200 words.
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5. How does the Advaitin refute the charge that if the
determinant of the perceptuality of an object mentioned in

Vedantaparibhasa is admitted, then the perception of the
form “It is a colourful jar” would imply the perception of
other properties like quantity etc. of the jar ? 5
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6. Why is the cognition of the form ‘I am happy’ always a
case of perception, according to the Advaitin ? 8

Y| TS WS TR FA TG BN (@ T AGTHR T 2¢
7. Why does the Advaitin reject jati and samavaya ? How

does s/he refute the existence of jati ? 2+3
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8. Distinguish, following Advaita Vedanta, between a
visesana and an upadhi . ' 5
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